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O™ [ Vin [ Vout | o o | B OIS | Vin | Vout [ o o | 82 01
(Vop) | (Vpp) (d8) | (Vpp) | (Vpp) | (dB)

200 | 10 | 1.25| 0.125 | —18.06 | 10 | 1.6 | 0.126 | —17.99

500 | 10 |3.02| 0302 | 1040 | 10 | 2.9 | 029 | -10.75

1,000 | 10 | 547 | 0547 | 524 | 10 | 52 | 052 | 568

2,000 | 10 | 831 0831 | —161 | 10 | 7.5 | 075 | 250

3,000 | 10 | 946 0946 | 048 | 10 | 86 | 086 | —1.3

4,000 | 10 [9.89| 0989 | —0.10 | 10 | 9 | 09 | 092

5000 | 10 |9.99| 0999 | —0.01 | 10 | 96 | 096 | 0.5

6,000 | 10 |9.94 | 0994 | 005 | 10 | 96 | 096 | —0.35

7,000 | 10 |978| 0978 | —0.19 | 10 | 96 | 096 | 0.5

8,000 | 10 | 957 | 0957 | 038 | 10 | 92 | 092 | 072

9,000 | 10 |932| 0932 | 061 | 10 | 9 | 09 | 092

10,000 | 10 [ 9.05| 0905 | 087 | 10 | 88 | 088 | -1.11

15,000 | 10 | 7.67| 0.767 | —2.30 | 10 | 8 | 08 | -194

20,000 | 10 | 647 0647 | 378 | 10 | 7 | 07 | -3.10
30,000 | 10 |479| 0479 | 633 | 10 | 52 | 052 | 568
40,000 | 10 | 3.75| 0375 | 852 | 10 | 42 | 042 | -7.54
I_J]L 50,000 | 10 | 3.06| 03068 | —10.29 | 10 | 355 0355 | -9.00
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